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Please make sure that the printed question paper are contains 18
questions.
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not strike the written answer.

o GO STy T To FIT-UH T FI9T i@

3629/(Set : A) P.T.O.



(2) 3629/(Set : A)

Candidates must write their Roll Number on the question paper.

FYIT Fo F I 37 @ [@ I8 GARGT B T [ FT97 [T 7 @& &, e #

YT 39 T § Fg o qrar @hww 7@ A am

Before
correct

answering the question, ensure that you have been supplied the
and complete question paper, no claim in this regard, will be

entertained after examination.
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(vii)

&4 97 SAard &

T 797 & o IG9% G T T 8

797 F& 1 7 qE (i - xii) JGAechHT Jo7 & 9% 1 % # 81 [T a6l
I FYH FaT-Gherwr 7 fred 8

797 @& 2 @ 10 7% Ty FTNT F97 &1 FAw 2 SH F 81 FAH FIT
H G TTHT 30 =] H Ao

797 F&9 11 § 15 7% T FT0T F97 &1 H9% F97 3 G # 81 J9% FI7
@ AT TTHT 40 J=&] § g

g97 G 16 §@ 18 T% T FINT F97 &1 F9F F97 5 FH #H 21 FO9%
T97 & FIT TTHT 70 <] T dforgy

J97-99 § I &Y G FE fAwey 78 & Ty 5 ojH am T dF FuT
goTl § SfiaRE @7 eI 97 77 &1 07 gei § G oy daa @ & g9
YT &

General Instructions :

(i)
(@)
(iii)

3629/(Set :

All questions are compulsory.
Marks for each question are indicated against it.

Question Number 1 consists of twelve (i-xii) multiple choice questions
carrying 1 mark each. Candidates have to write the correct answer
in their answer-book.

A)



(3) 3629/(Set : A)
(iv) Question Numbers 2 to 10 are very short answer type questions of 2
marks each. Answer these in about 30 words each.

(v) Question Numbers 11 to 15 are short answer type questions of 3
marks each. Answer these in about 40 words each.

(vi) Question Numbers 16 to 18 are long answer type questions of 5

marks each. Answer these in about 70 words each.

(vii) There is no over all choice. However, internal choice is given in all
long answer type questions of 5 marks each. You have to attempt

only one of the given choice in such questions.
1. () e dewer B 3 R o e B R e 7 1

(A)  Uchelel (B) UHH

(C) @I (D) W

Williamson Synthesis is used to prepare :

(A) Alcohol (B) < Amine
(C) Ketone (D) Ether
O
(i) d A6 & IUPAC 99 fafew
CHs

O
Write the IUPAC name of this compound. d
CHs

(iii) [Cr (NHj3); Br Cl 1| Suqesdo® A & IUPAC W fafau
1

3629/(Set : A) P.T.O.



(4) 3629/(Set : A)
Write IUPAC name of coordinate compound [Cr (NH 3)3 Br ClI |

(iv) SORE AHBRNT & AT H TGMT o, O AT RWH & AW W 1 9 &R ?
1

(A) & (B) =
(C) Rex w&m (D) T ¥ Pig &

A catalyst increases the rate of reaction, then what will be the
effect on rate constant ?

(A) Increases (B) Decreases

(C) Not Changed (D) None of these

(v) 1 & & #I9e (Chelate) fiFre ® - 1
(A) OH" (B) H,NCH,CH,NH,
© cr (D) CN-

In the following chelating ligand is

(A) OH~ (B).~ H,NCH,CH,NH,
© cr (D) CN~
OCH3
(vi) +HI —CK , A+ B o § AT BR @ 1

(A) CgHsI, CH;OH
(B) CgHsOH, CHI

(C) CgHsCH,OH, CHsI

3629/(Set : A)



(5) 3629/(Set : A)
(D) CH;CH,I, CsHsOH

OCH3

In the Reaction + HI ﬂ) A+B Aand Bare:

(A) CgHsI, CH;OH
(B) CgHsOH, CHI

(C) CxHsCH,OH, CHjI

(D) CHsCH,I, CsHsOH

(vii) T Reis Al dec! 9@ve-1 M Hife @ Tihar & fT BT - 1
(A) A (B) 9¥H
(C) fadim (D) @ & T&

If rate constant for a Reaction is mole litre~! second-! then order of
reaction is :

(A) Zero order (B) - First order
(C) Second order (D) None of these

(viii) FrifoRaa Afet & w98 F9 FauEiE ew & 7 4
(A) HySe (B) HjTe

(C) HyO (D) H,S
In the following compounds which has minimum boiling point ?
(A) HQSe (B) H2Te

(C) H,0 (D) H,S

3629/(Set : A) P.T.O.



(6) 3629/(Set : A)
(ix) ¥ § 9 99 &7 79 e : 1

(A) CH30H (B) (CH3),CHOH
(C) CH3;CH,OH (D) (CH3)3COH
Which is weakest acid in the following ?
(A) CH3;0H (B) (CH3),CHOH

(C) CH,CH,0H (D) (CH;)3COH

(x) WE K3[Cr (C,04);] § Suaeddne g &1 2 ? 1
(A) 3 (B) 6
© 4 (D) 2
What is the coordination number in the K3[Cr (C,04);] coordinate
compound :
(A) 3 (B) 6
) 4 (D). 2

(i) CH,CH,0H M H2%0s - 0 g
413 K

(A) CH,=CH, (B) C,HsOCH,
(C) (C,Hs),0 (D) CH5CH,CH,CH,
CH,CH,0H &% ffoﬁ A, A will be :
(A) CH,=CH, (B) C,H-OCHj
(C) (CyHs),0 (D) CH3CH,CH,CH,

3629/(Set : A)



(7) 3629/(Set : A)
(xii) fr=ifeaa Afewt & @ SV frafafy siftesam daar & #m ?

1
(A) CHsBr (B) CH,CI

(C) CH3CH,CI (D) (CHj),CHCI

SNZ?reaction will be fastest in :

(A) CH3Br (B) CH,CI
(C) CH5CH,CI (D) (CHs),CHCI
2. YA 9 AUGe dgahl | fa¥eE i 2

Write difference between Thermoplastic and Thermosetting polymers.

3. &0 M99 % & ST farau) 2

Give two applications of Henry's Law.

4, MEH AY H ISR Gled TIR| 2

Explain Schottky defect with an example.

5. A 4.0 ™ NaOH, 500 il fawas # gel &, @ fawas &l Hieen s i
2
4.0 gm of NaOH, dissolved in 500 ml of solution, calculate molarity of

the solution.

3629/(Set : A) P.T.O.



(8) 3629/(Set : A)

6. 0.05 M NaOH feae & 9ftRg 31.6 Q R 6@ 49 ReRi® 0.357 cm! B
SO TChAT g Hie SRIhel S D 2

The resistances of 0.05 M NaOH solution is 31.6 Q and its cell

constant is 0.357 cm™l. Calculate its conductivity and molar

conductivity.

7. uiaE oy fRY #ed E ? SwAm fafew 2

What is Tranquilizer ? Give use.

8. S & g A & (&g A H FHAET 2

Discuss Second Law of Faradey Law of electrolysis.

9. BEH UHH ATNEH Hl Jae0T Hied URHW B 2

Define Pseudounimolecular reaction with an example.

10. 7 U&f @l g ST ¢ 2
() F-&=
(i) UHH HISH

Define the following terms :
(i) F-centre
(ii)) Unit Cell

11. o1getl & Sed & U dee gt fafy st e sivms

Explain Zone refining method for refining of metals.

3629/(Set : A)



(9) 3629/(Set : A)

12. FfaRag ikt ffag : 3
(a) TS SRl
(b) dvsBIR orffeam

(c) geoi-fefe stfvrferan

Write the following reactions :
(a) Swarts reaction

(b) Sandmeyer reaction

() Wurtz-fitting reaction

13. TEAT SO g ol SORer § oY R gHed 2 ¢ 3

What do you understand by homogeneous catalysis and heterogeneous

catalysis.

14. el 9& & g ST ¢ 3
(a) TAHX
(b) U=EE T
(c) fergefieneT

Define the following terms :
(@) Anomer
(b) Peptide Bond
(c) Reducing sugar
15. = & qu I 3
CHs

3629 :A) P.T.O.
NH>



(10) 3629/(Set : A)
H,0 5 KMnO,

NaNO, /HCL |
273-278 K~ H3PO,  OH™

Complete the following :
CHs
NaNO, /HCL ., HyO . KMnO,
273-278 K H3PO, OH™
NH>2

16. FHde [ g H,SO, TN @ i %1 oM Hifww gae dxamn @ fafawis

Explain contact process for manufacturing sulphuric acid. Draw its

structures.
g
OR
(@) H3PO; @ HyPO, STOIST # HYEMN, e fefay 3

(b) FEGISH & STHMRT Ol i AT Hio 2

(@) Draw structures of H3PO; and H3PO, Molecules. Also give their
basicity.

(b) Discuss Abnormals behaviour of Nitrogen.

3629/(Set : A)



, (11) 3629/(Set : A)
17. HHAOT gige & Had § Fr=foid @ e Hifm 5

(i)  SifeRdieReeT STaeemd
(i) SSRHE o
Explain the following with reference to Transition metals :

(i) Oxidation states

(i) Catalytic properties

g
OR
(a) oI KMnO, ™ @ SIf9fear &7 W H&T 8 ? 3
@) H,S
(@) KI

(iii) FeSO,

(b) Zn, Cdd Hg H HHAT T & A S 81 BROT fAra
2

(a) What happens when acidified KMnO, react with :

@) H,S

@) KI

3629/(Set : A) P.T.O.



(12) 3629/(Set : A)
(ii) FeSO,

(b) Zn, Cd and Hg metals are not considered as transition metals.
Give reason.

18. (a) NG g IIgH 3T H [a9E &1 & ¢ qaEs gaeer dvm 2

(b) S=iW @ frefaRad § aRafad i 3
(i) CHEGHA
(i) SfcsERs
(ili) SFSABH

(a) Give a chemical test to distinguish between Phenol and Benzoic

acid.

(b) Convert Benzene into :
(i) Acetophenone
(i) Benzaldehyde

(iii Benzophenone

3629/(Set : A)



(13) 3629/(Set : A)

S7erEr
OR
frr=ifeieg w dftrg e fafae - 5
(i) Bawe S srfufhar
(ii) U dEA

Write short notes on the following :

(i) Hell-Volhard-Zelinsky Reaction

(ii)) Aldol Condensation

3629/(Set : A) P.T.O.
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o FUI TT I T & FG FT-GT T GET 797 18 &
Please make sure that the printed question paper are contains 18
questions.

o g97-YF H lfe &7 @l T RF T4 FS TR T G B GH TACYAH % JEI-IC
v i@y
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

YT J97 FH FAT [T & H @ Gecl, F9T H HHIEH FaT o7&

Before beginning to answer a question, its Serial Number must be written.

o JTCYRTH % & 4 @l g/ U= T 8ig)
Don'’t leave blank page/ pages in your answer-book.

o FUTYRTHE B SIRFT FHF o ST T&T HAh T SaREEAGar & g s forar
FTT T FC

Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GO STy T To FIT-UH T FI9T i@
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(2) 3629/(Set : B)

Candidates must write their Roll Number on the question paper.

FYIT Fo F T 37 @ [@ I8 GARGT BT [ FT97 [T 7 7& 8, e #

YT 39 T § Fg o qrar @hww 7@ A am

Before
correct

answering the question, ensure that you have been supplied the
and complete question paper, no claim in this regard, will be

entertained after examination.

G 59T -

(i)

(@)
(iii)
()
v)
vy

(vii)

&4 97 SAard &

T 797 & o IG9% G T T 8

797 F& 1 7 qE (i - xii) JGAechHT Jo7 & 9% 1 % # 81 [T a6l
I FYH FAT-Gherwr 7 freT 8

797 @& 2 @ 10 7% Ty FTNT F97 &1 FAH 2 GH F 81 FAH FoT
H G TTHT 30 =] H Ao

797 F&9 11 § 15 7% T FT0T F97 &1 H9% F97 3 G # 81 J9% FI7
@ AT TTHT 40 J=&] § g

g97 G 16 §@ 18 T% T FINT F97 &1 F9F F97 5 H #H 21 F9%
T97 & FIT TTHT 70 <] T dforgy

J97-99 § I &Y G FE fAwey 78 & Ty 5 ojH am T dH FuT
goTt § SfiaRE @7 eI 97 77 &1 07 ge § G oy daa @ & g7
YT &

General Instructions :

(i)
(@)
(iii)

3629/(Set :

All questions are compulsory.
Marks for each question are indicated against it.

Question Number 1 consists of twelve (i-xii) multiple choice questions
carrying 1 mark each. Candidates have to write the correct answer
in their answer-book.

B)



(3) 3629/(Set : B)
(iv) Question Numbers 2 to 10 are very short answer type questions of 2
marks each. Answer these in about 30 words each.

(v) Question Numbers 11 to 15 are short answer type questions of 3
marks each. Answer these in about 40 words each.

(vi) Question Numbers 16 to 18 are long answer type questions of 5

marks each. Answer these in about 70 words each.

(vii) There is no over all choice. However, internal choice is given in all
long answer type questions of 5 marks each. You have to attempt

only one of the given choice in such questions.

1. () 9 @ faerfs s@ & faqg & ? 1
() feriE D (B) ferfm K
(C) fqefm E (D) fqei= B
Which Vitamin is soluble in water ?
(A) Vitamin D (B) Vitamin K
(C) Vitamin E (D) Vitamin B

(i) T W@ MnO, & Mn*" ¥ IERE & & U o dUe (F) &l

SAETHAT B 7 1
(A) 5F (B) 2F
(C) 1F (D) 7F

Number of Faradays (F) required to reduce 1 mole of MnO, into

Mn?*.

3629/(Set : B) P.T.O.



(4)

(A) S5F (B) 2F
(C) 1F (D) 7F
(i) FrefoRed a1 Rexie & offe
K =2.6x10"*L Mol 's7!:
(A) "I (B) A
(©) facha (D) ®E i &

Identify the order of Reaction from
constant K =2.6x10™* L Mol 1s7! :

(A) First (B)
(C) Second (D)
(iv) AR TAHA B IHE ©
(A)  ohm™! m? mol™
(B) ohm m? mol™
(©) ohm™ m? mol
(D) ohm™2 m? mol™!

Zero

None of these

The units of molor conductivity are :

(A) ohm™! m? mol™
B) ohm m? mol™!
(B)

C) ohm™' m? mol
(&

3629/(Set : B)

3629/(Set : B)

B FC  F@ BT
1

the given rate



(5) 3629/(Set : B)

(D) ohm™ m? mol™!

(v) fr=fafeg & @ faemeg o #9-a1 8 ? 1
(A) HsPO, (B) HsPO;

(C) H,PO, (D) HCIO,

In the following which is dibasic acid ?

(A) H,PO, (B) HiPO;,
(C) HsPO, (D) HCIO,
(vi) frfeRaa & seaaw ovd @9 & ° 1

(A) CH3CH,COOH (B) CH3;COOH
(C) CgHsCOOH (D) CgHsCH,COOH
In the following strongest acid is:

(A) CHZCH,COOH (B) CH;COOH
(C) C¢HsCOOH (D) C¢HsCH,COOH
(vi) (CH3CH,),NCH; A% & [UPAC M fifau) 1

Write JIUPAC name of the compound (CH3CH2 )QNCH3.

(vidi) FreT AT RSl § AR B9 F9UIH BhaH AT ? 1
(A) CyHSF (B) CyHI
(C) CoHsCl (D) C,HsBr

In the given Alkyl halides which one has minimum boiling point ?

3629/(Set : B) P.T.O.



(6) 3629/(Set : B)
(A) CyHsF (B) CyHsI

(C) C,HsCl (D) C,HsBr
(ix) Fr=icia 1 &b Jskd & ed %A | e
CyHsNH,, CgHs5NH,, (CyHs)yNH AR CeHsCH,NH,
Write the increasing of strongest basicity of the following :
CyHsNH,, CgHs5NH,, (CyHs)yNH and CgHsCH,NH,
(x) CH,C=N_—2/M . p pamg? 1
(A) CH3;CH,NC (B) CH3;CH,NH,
(C) CH3;NHCH; (D) CH3;NH,
CH,C =N —22/M  p p will be?
(A) CH3;CH,NC (B) CH3;CH,NH,
(C) CH3;NHCH; (D) ~CH3NH,

(xi) 1 ¥ § P9-T1 9°% RNA § ¥ &R DNA & =& ?
1

(a) T (B) HEEH

(C) wr= (D) o

Which base is present in RNA but not in DNA ?
(A) Uracil (B) Cytosine

(C) Guanine (D) Thymine

3629/(Set : B)



(7) 3629/(Set : B)
(xii) T B gFD T B [T B 9T e Sar § 2

(A) faeE B (B) faaf™ D

(C) faei# = K (D) faei®= C

The Vitamin responsible for the coagulation of blood is :
(A) Vitamin B (B) Vitamin D

(C) Vitamin K (D) Vitamin C

2. 3 Wy Siooiary vy F1 & ? THH 0F [ M@ 2

What are broad spectrum drugs ? Give one example.

3. n-T&R 3R p- TBR & EACIB b TN foRam 2

Give applications of n-type and p-type semiconductors.

4. FrTiciEe @i gim EiNT
(a) BT M
(b) ST frEm 2
Define the following :
(@) Henry's Law
(b) Raoult's law

5. Uidgaha d diegraha e H W S 2

Define Diamagnetic and Ferromagnetic substance.

3629/(Set : B) P.T.O.



(8) 3629/(Set : B)
6. TR fFY Fed & ? 3O VHIM B U &7 U™ faRaw | 2

What is Corrosion ? Give two methods to prevent if.

7. FA-N G FAT-S % Therhl & HH FR) [l 2

Differentiate between the monomers of Buna-N and Buna-S.

8. FiNd, WA 9 ek oTlig B, HHEEU 2

Phenol is more acidic than Ethanol, explain.

9. 7 5.6 A KOH, 500 frflo e & gam &I, @ e & Hiawan st ifom)
2

If 5.6 gm of KOH dissolved in 500 ml of solution, then what will the

molarity of the solution.

10. FreAfoed & ®UaR &9 B ? 2
(i) UUH — TUE - 2 - |
(i) ST FREE — T T
How would you convert the following :
(i) Propene to propan-2 -0l
(i) Benzyl Chloride to Benzyl alcohol.

11. fr=ifaiad Sudedae™ AR & IUPAC W fafae @ 3

(i) [co(NH;),Brlso,
(ii) Ks[Fe(CN)]
(i) Ks[Cr(C204)s]

3629/(Set : B)



(9) 3629/(Set : B)

Write [IUPAC names of following coordinate compounds :
(i) [co(NH;),Brlso,
(i) Ks[Fe(CN)s]

(iii) Kslcr(C,04),]

12. 3T 3 GET 3 U B9 o fad & fGaeem @i 3

Discuss froth floatation process for the concentration of ores.

13. Fr=ieiad & qe GiHie & e & fom alier fafae @ 3
(i) Bry, 9d
(i) CHCIl3 + NaOH
(iii) Nay,CryO; +8Is HpSOy4
Write the Equations for the reaction of phenol with the following :
(i) Br, Water

(i) CHCls + NaOH

(iii) Na,yCr,0, + Conc. HySO,

14. < & @l 9N ST ¢ 3

3629/(Set : B) P.T.O.



(10) 3629/(Set : B)
() oAfufear i reiy

(i) &I SMgRT

(iii) EFBET ot

Define the following terms :

(i) Half life period of reaction

(i) Condensation frequency

(iii) Activation energy

15. SeH I @ = Sifsm 3

Discuss the Brownian movement.

16. =1 @ gui #ifmT : 21 x2=5
() T AR

-

(i) STgS AT

Describe the following :
(i) Stephen reaction

(i) Rosenmund reduction

e
OR

=i B FfaRag J aRkafag i - 1+2+2=5

(i) SicEeRe

3629/(Set : B)



(i1)

(i)

(11) 3629/(Set : B)
BivceEifes v

EIDSIE I

Convert benzene into :

(i)
(i1)

(i)

Benzaldehyde
Phenyl acetic acid

Methyl benzoate

17. (a) [ STOpell @ dXEE W HIPT : 2424+ 1=5
i XeF,
(ii) BrF;
(b) 3T HEHRH AR AT FEHRT Pl G H % [
(c) H,O, H,S, HyTe d H,Sc l Sgal g5 STl AN R B
(a) Draw the structures of the following :
i) XeF,
(iiy BrF;
(b) Write the structural difference between white phosphorus and red
phosphorus.
() Hy0, H,S, HyTe and H,Sc Arrange these in increasing their
acidic character.
Fgqr
OR
=T & STa 3ol RO T 24941

3629/(Set : B) P.T.O.



(12) 3629/(Set : B)
() PH, %I W& NH, offU® Ued &R 2l

(i) F,® s f@eW ot CL# s+ [ Soi | &9 el Bl

(iii) AsHj, NH3, PH; @ BiH; %l 9d g Faih % ATHN FdRI ST

Account for the following :
(i) INHj is a stronger base than PHj.

(ii) Bond dissociation energy of F, is less than that of CI,.

(iii) AsHj, NH;, PHyp and BiH; Arrange these in order of increasing
their boiling points.

18. URRFM WHME s9M & J°W HIT FHT KMnO, == & & 5 TR

rffshar 4T, T iR [y 5
(i) SO,
(i) oS or

(iii) FeSOy4
Describe the preparation of potassium permanganate. How does
acidified KMnO, solution react with :
i SO,
(i) Oxalic acid
(iii) FeSOy4
Write ionic equations for these reactions.
HYAT
OR
() FARM foram foifae - 3

(i) Fe?

3629/(Set : B)



(13) 3629/(Set : B)
(i) Cr
(iii) Mn?"
(b) HeHHOT 1 ST AR F S & 7 2

(a) Write Electronic configurations of :

(i) Fe?
(i) Cr
(iii) Mn2*

(b) Why transition metals form interstitial compounds ?

3629/(Set : B) P.T.O.
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o FUI TT I T & FG FT-GT T GET 797 18 &
Please make sure that the printed question paper are contains 18
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o g97-YF H lfe &7 @l T RF T4 FS TR T G B GH TACYAH % JEI-IC
v i@y
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

YT J97 FH FAT [T & H @ Gecl, F9T H HHIEH FaT o7&

Before beginning to answer a question, its Serial Number must be written.

o JTCYRTH % & 4 @l g/ U= T 8ig)
Don'’t leave blank page/ pages in your answer-book.

o FUTYRTHE B SIRFT FHF o ST T&T HAh T SaREEAGar & g s forar
FTT T FC

Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GO STy T To FIT-UH T FI9T i@
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(2) 3629/(Set : C)

Candidates must write their Roll Number on the question paper.

FYIT Fo F I 37 @ [@ I8 GARGT B T [ FT97 [T 7 @& &, e #

YT 39 T § Fg o qrar @hww 7@ A am

Before
correct

answering the question, ensure that you have been supplied the
and complete question paper, no claim in this regard, will be

entertained after examination.

G 59T -

(i)

(@)
(iii)
()
v)
vy

(vii)

&4 97 SAard &

T 797 & o IG9% G T T 8

797 F& 1 7 qE (i - xii) JGAechHT Jo7 & 9% 1 % # 81 [T a6l
I FYH FAT-Gherwr 7 freT 8
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General Instructions :

(i)
(@)
(iii)

3629/(Set :

All questions are compulsory.
Marks for each question are indicated against it.

Question Number 1 consists of twelve (i-xii) multiple choice questions
carrying 1 mark each. Candidates have to write the correct answer
in their answer-book.
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(3) 3629/(Set : C)
(iv) Question Numbers 2 to 10 are very short answer type questions of 2
marks each. Answer these in about 30 words each.

(v) Question Numbers 11 to 15 are short answer type questions of 3
marks each. Answer these in about 40 words each.

(vi) Question Numbers 16 to 18 are long answer type questions of 5

marks each. Answer these in about 70 words each.

(vii) There is no over all choice. However, internal choice is given in all
long answer type questions of 5 marks each. You have to attempt

only one of the given choice in such questions.

1. () N,+3H, - 2NH; STGRaT & a1 NH,& @< | &1 8 ? 1

2
t 2 dt

For a Reaction N, + 3H, — 2NH; the rate of reaction with respect

to NH; will be ?

2
o qam o e

(i) o Fifc H AR B FEAIHA 100 FH9S 3| TAH I ReRH BT -
1

(A) 6.93 x 10-3 YFTE
3629/(Set : C) P.T.O.
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(B) 6.93 x 102 &S

(C) .693 HFHE
(D) 6.93 HFHE

If Half life period of a first order reaction is 100 Seconds. There
rate constant will be :

(A) 6.93 x 103 Second
(B) 6.93 x 102 Second

(C) .693 Second

(D) 6.93 Second
(i) FTh-HiE TG Theh Htos A GRATET I HE Al 8
(A) 1 (B) 4

(C) 6 (D) .2

The total number of atoms in a face centered cubic unit cell are :

(A) 1 (B) 4
(€ 6 (D) 2
(iv) CeHsCl+CH3Cl+2NO — 28X ETHER
CHs
+ 2NaCl
I8 feeam B ’

3629/(Set : C)
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(A) e (B) &vsHRR
(C) fHféw (D) g fefee arffshan fpfe
CgHsCl + CH;Cl + 2NO —2RY ETHER
CHs
. . + 2NaCl
This reaction is :
(A) Staphen (B) Sendmeyer's
(C) Fittig (D) Wurtz-Fitting
(v) oIfpeetig 319 B 1
(A) & (B) wiitesh
(C) @M= (D) &
Amorphous solid is :
(A) Rubber (B) Plastic
(C) Glass (D) Al
(vi) QTN B THASD © 1
(A) CF, =CF, (B) CH, = CHCN
(C) CH2 = CH2 (D) C6H5CH = CH2
Monomer of Teflon is:
(A) CF, =CF, (B) CH, = CHCN
(C) CH2 = CH2 (D) C6H5CH = CH2
(vii) 71 # veq o IaET 1
(A) CH3;0OH (B) CH3;CH,OH

(C) (CH3),CHOH (D) (CHj,)3COH

In the following which is strongest acid :
(A) CH3;0H (B) CH3;CH,OH

3629/(Set : C) P.T.O.



(6) 3629/(Set : C)
(C) (CH3),CHOH (D) (CHj3);COH

(vii) 7T & TIIGE 95 © ¢ 1
A) TR (B) Uiferdi=
(C) dUfiITEx (D) A-N
In the following thermosetting polymer is :
(A) Bakelite (B) Polythene
(C) Polyester (D) Buna-N
(ix) fr=fafaa afe # S FaemH & Jed w9 § R - 1
(A) C4Ho OH (B) C4Hig

(C) C,HsOC,Hs (D) Cs3H,CHO

Arrange the following compounds in order of increasing their
boiling points :

(A)  C4HoOH (B) C4Hip
(C) C,HsOC,Hs (D) CsH,CHO
OCHs

(x) e (@ JHI%HT%I 373 Kd¥ W ST @ :

1
(A) CgHsI+CHZ0H

(B) CgHsOH +CHsI
(C) CgHsCH,OH + CH;I

(D) CH3CH,I+CgHsOH
OCH3

Anisole ( @ J with Hiat 373 K temperature will give :
(A) CgHsI+CH3;0H

3629/(Set : C)
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(B) CxHsOH + CH,I

(C) C6H5CHQOH + CH3[
(D) CHLCH,I + CgHsOH

(xi) CgHsCH,CH,CI A% % IUPAC W fafag :

Write JUPAC name of the compound CgHsCH,CH,Cl.

(xii) =1 & uea oo ® 1
(A)  PHj (B) BiHj3
(C) SbH; (D) AsH;
In the following strongest reducing agent is :
(A) PHj (B) BiHj3
(C) SbHj; (D) AsH;
2. Preifem st @ oo B - 2
CH3
Chp/hw H30 )
373K

Complete the following reaction :

CH3
@ Chp/hw o H30 5
" 373K
3. SRR & SToEEdar g e @ Hife Y e g7 2

What do you mean by molecularity of a reaction and order of a
reaction ?

3629/(Set : C) P.T.O.
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4. 298 K W 0.20 M KCI fq@@ &l =har 0.02485 ohm-lcm! 21 fa@ae &l

A DAl ST B 2

At 298 K the conductivity of 0.20 M KCI solution is 0.02485 ohm~! cm~
1. Calculate the molar conductivity of the solution.

5. Wad QY Al IaEXU gied qHRU 2

Explain Frenkel defect with an example.

6. U faw@d § CH,OH %l 30 % ZeqWH UMl § gl 83T &, @ CH;0H % Hid
FHST B T BT 2

Calculate the mole fraction of CH3;0H in solution containing 30 % by
mass in water.

7. T & WY BN S AR & [T a2
(i) SN (Bry) S
(i) i
Write the equations for the reaction of Phenol with the following :
(i) Bromine (Bry) water
(i) Zinc
8. =1 Wi &l IR« i 2
(i)
(i) 9EET 9
Define the following terms :

(i) Molality

(i) Osmotic pressure

3629/(Set : C)
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9. FHIAUSY & IH Bl TH ISR Gl qHET| 2

Explain Kohlrausch law with a suitable example.

10. ifge srfsiye g qaEs e ¥ k¢ fawa difvm p)

Give two differences between physical adsorption and chemical
adsorption.

11. frfafed SugeddsH AR & [UPAC 99 [ifae 3
(@)  [PH(H,0),BrNO,]
(b) [Ni(CO),]
(€) KAl (Cy04)3]
Write IUPAC names of the following coordinate compounds :
(@)  [PH(H,0),BrNO,]
(b)  [Ni(CO)4]

(c)  K3[Al(Cy04)s]

12. 5y or=T ofiwy 5 @ed € ? fhel & 9 ufg orll @l Sareer 4t 3

What are antacids ? Give two examples of good antacids.

13. 1 Bl & 9 b e & de AR Fer © 7 3
() HI, a
(i) NH,OH

3629/(Set : C) P.T.O.
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(iii) Bry S
What happens when Glucose reacts with the following :
(i) HI, Heat
(ii) NH,OH

(iii) Br, Water

14. 9% & U Th FETEXT T o afiishanedl &1 avis difie @ 3
(a) TIHAN sNAAIES AR
(b) F SAHfHan
Giving an example for each describe the following reactions :
(a) Hofmann's Bromamide Reaction

(b) A coupling reaction
15. dF-Rebal-ANEA & iy &t aregn i) 3

Explain the Van-Arkel-Method for refining of metals.
16. = & aU I :

(a) U GE 215

(b) HIRT SAffeRaT 2

Describe the following :

N =

(a) Aldol condensation

(b) Cannizzaro reaction

3629/(Set : C)
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e

OR
COOH COOH

(a)@ q Il | BN TEd T €,
Cl O2
3 4t ? 3

(b) CH,COCH, =1 & oifvifhan &¢@ @n a9 & 7

2
(i) NH,OH
(i) HCN
CH,OH
(iii) |
CH,OH
COOH COOH
(@) (05 and which acid is strongest acid,
CJl I\)OQ
and why ?

(b) CH3COCHj3 on reacting with the following will give what product ?

Explain.
(i) NH,OH
(i) HCN

3629/(Set : C) P.T.O.
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CH,OH
(iii) |
CH,OH
17. () Iop< 4 & A4 Aew@yl QN R 3
(b) XeO; T XeF,3T3T &l €EAN S=Y 2

(a) Write three important uses of Noble gases.

(b) Draw structures of XeO; and XeF, molecules.

HAYqT
OR

() ZeXEelor A F1 & ? SeE R 3
(b) FeXedio AN, BaoM & e feanshia 8, @i ?
2

(a) What are interhalogen compounds ? Give example.

(b) Why are interhalogens compounds more reactive then halogens ?

18. OIS JAHET 8 A T THAG © ¢ 36D HRON d URCTH H 4o Wi 5

What is Lanthanide contraction ? Explain its reasons and

consequences.

OR

3629/(Set : C)
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(b)

(13) 3629/(Set : C)

Frfeiad Tt sfdfear il & qof S ¢
(i) Cr07 (aq)+ Fe** +H™ —

(i) Cry0% (aq)+I +H' —

(i) MnO,(aq)+ Fe*" +H" —

BT AIqC 9 I AN STIIIH 81 TWEE Hior|

Complete the following reactions :

i) Cr,02 (aq)+ Fe** +H® -

(i) Cr,0% (aq)+I +H" -

(i) MnO,(aq)+ Fe*" +H" —

Transition metals and their compounds show

behaviour. Explain.

3629/(Set : C)
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Candidates must write their Roll Number on the question paper.
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Before
correct

answering the question, ensure that you have been supplied the
and complete question paper, no claim in this regard, will be

entertained after examination.
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All questions are compulsory.
Marks for each question are indicated against it.

Question Number 1 consists of twelve (i-xii) multiple choice questions
carrying 1 mark each. Candidates have to write the correct answer
in their answer-book.
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(3) 3629/(Set : D)
(iv) Question Numbers 2 to 10 are very short answer type questions of 2
marks each. Answer these in about 30 words each.

(v) Question Numbers 11 to 15 are short answer type questions of 3
marks each. Answer these in about 40 words each.

(vi) Question Numbers 16 to 18 are long answer type questions of 5

marks each. Answer these in about 70 words each.

(vii) There is no over all choice. However, internal choice is given in all
long answer type questions of 5 marks each. You have to attempt

only one of the given choice in such questions.

1. () 5o ifc S AAERIT H Ty MR Fd 8 ¢ 1

(A) STRHERD H TrEal W

(B) SMEI H GFEAT IX

(C) ik 97 el W

(D) ®E 4 T

Halflife period of a first order reaction depends upon :
(A) Concentration of reactants

(B) Concentration of products

(C) Rate constant of reaction

(D) None of these

(i) =1 & § P9-91 G99 TEF o7 © 7 1

3629/(Set : D) P.T.O.
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(A) HCIO (B) HCIO,

(C) HClo, (D) HCIO,

In the following strongest acid is :

(A) HCIO (B) HCIO,
(C) HCIO, (D) HCIO,

(i) frfoRaa & & @9 G987 1
(A)  Cu,Cl B) [Sc(H,0)s]*"

]2+

© [zn(H,0),]" O [ri(H0),]*

Which one is coloured ?

(A)  CuyCly B) [Se(H,0)]°"

]2+

© [zn(H,0),]"" (O [ri(H0),]*

(iv) TEEREN et & 99 2 ® 1
(A) g (B) YR &S
(C) U=eH T (D) I

Isotonic solutions are the solutions having same :
(A) Concentration (B) Osmotic pressure

(C) Surface tension (D) Viscosity

3629/(Set : D)
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() T A o o @ A ReRiw A E R 0 1

A) Tl (B) #rsar ! gl
(C) drar’ §Hg 2 (D) Hiz ff T

The units of rate constant for first order reaction is :

(A) Time !

(B) Concentration -1

Time ™
(C) Concentration? Time 2
(D) None of these

(vi) & A B FAAT B 1
(A) 20 (B) 18
(C) 10 (D) 55.5
The molality of pure water is :
(A) 20 (B) 18
(C) 10 (D) - 55.5
1
(vii)
SOsH 3% % IUPAC M fofau) 1
1
Write [IUPAC name of Compound.
SOsH
CHCl»

©

3629/(Set : D) P.T.O.
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(viii) stferferam & HO b osmmpy

H,O

ICH'CIQ"‘ollowing reaction, product P is 373 K

©
©

CHs
(A) @ (B)
CHCl

CH20H
o @ | @

(ix) [Co(NH;),CLINO, @ [Co(NH,),CINO,]CI #F- & THEd ® ?

1

(A) ST (B) Sl

(C) UeHIITh (D) i
Which type of Isomerism present in [CO(NH3)4C12]]V02 and

[co(NH;), cINO, Jct

(A) Ionmic (B) Linkage

3629/(Set : D)
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(C) Optical (D) Geometrical

(x) ATHBRET H U HIFT 1
CyHsOC,Hs + 2HI __ 373K |
Completes the reaction :

C,HsOC,Hs + 2HI_373K |

(xi) fr=fafaa Afw & ST or amed 3 g #9 7 [T ¢
1

(A) CH3;0H (B) C,HsOH

(C) N (D) p - TRETHN

Arrange the following in order of increasing their Acidic strength :
(A) CH3;0H (B) C,HzOH

(C) Phenol (D) - p- Nitrophenol

(xif) Ffrad 3 @ 60 a%d o & o1g i SaiseT sfae 9 & 7
1

@A) [cr(H0)]**  B) [cucy]*

(C) [Fe(cO)s] D) [Fe(cN)s]>

In the following in which metal of complex ion has zero oxidation

number ?

3629/(Set : D) P.T.O.
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@A) [cr(H0) P B) [cucy]*

(C) [Fe(cO)s] D) [Fe(cN)s]>

2. e 69 @wed & ? & e R 2

What is meant by the term antibiotics ? Give two examples.

3. XA Y e a9 A1 & foveq &1 &g &Xa & X 99 & @M W d Y a4
Fhl & B WX IURYT B A H G HIG e 2

A cubic unit cell made up of X and Y elements. If X present on the
corners of the cube and Y are present on centers of faces, of cube then
find formula of the compound.

4. A F1 BN & ! To B9 UBR TG AT A © 7 2
What are semiconductors ? How are they classified ?

5. < T&I ® 9T S 2
(i) dr< 8% ol
(ii)  Hrar

Define the following terms :
(i) Van't Hoff factor

(i) Molarity

6. GRHITT el H He<d IHHET| 2

3629/(Set : D)



(9) 3629/(Set : D)
Explain the importance of Activation Energy.

7. G 6, 6 9 B - 6 TEeThl H {9 FHHABT 2

Explain the difference between polymer nylon 6,6 and nylon 6.

8. 34 97 P9 Fed & ¢ T IWN faray 2

Define fuel cell ? Give one use.

9. 9 ¥4 H E°MF 3q HioTC : 2
Cu | Cu?®

e E° Cu?t| Cu=+0.34V
E° Ag/Ag" =-.80V R

Ag" | Ag

Calculate E°MF of the following cell :

Cu|Cu?'| Ag" | Ag

Given is E° Cu?t| Cu =+0.34V

E° Ag/Ag" =-.80V

10. TTEEIUSS S # gesia oGSy 2

How do you account for the miscibility of Ethoxy ethane in water ?

3629/(Set : D) P.T.O.
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11. o-FhE AR B-TThH § [N F1 X & ? TqhE B A GO G A

o ® ? 3

What is essentially the difference between « - glucose and [ -glucose ?

What is meant by pyronose structure of glucose ?

12. gicreaas Al @ S ) AR Sy FrafalEt & S omw @ &fax T ?
T TR ol TH-Ush Iae{ i) 3

How would you differentiates between SNl and SN2 Mechanisms of

substitutions reactions ? Give one example of each.

13. fe=a yum@ @t fagd=em Sifsm 3

Discuss the Tyndall effect.

14. 91 @ W< FOT : 3
() TFAT & JEQ STuEed § FRAEE & B
(i) TR og & IR H CO (@A AIsiags) & FA

Explain the role of :
(i) Cryolite in the electrolytic reduction of alumina

(i) Carbon monoxide in the purification of nickel.

15. F=ifaiad stifspamstl & e TEmEe THiwT 36t Mg 3
(i) e AR

3629/(Set : D)
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(i) wfRHN iR
(iti) STHITeTIEEH
Give chemical equations for the following reactions :
(i) Gatterman Reaction

(i) Carbylamine reaction

(iii Ammonolysis

16. FrAfaRad & e Fivy
(@) NH; & U BiH,; T YS90 990 &l 3
(b) Ieh< 9 AR IfhT 2, 7 2

Explain the following :

(a) BiHj3 is a stronger reducing agent as compare of NHj.

(b) Noble gases are mostly inert, why ?

AYqT
OR

(a) ARSI o SFEM YO %l HEAT Hif| 3
(b) PH, %l FaeFi% NH, § &° &, @< HQ 2

(a) Explain the Anamalous properties of Oxygen.

(b) PHj has lower boiling point than NH;, Explain.

17. (a) ST K,Cr,0, =1 & 1f¥fhar &am ar & arm ? 3
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i) H,S

@) KI
(ii) FeSO,
(b) BT AT SiarEsh AR T B, W #iu 2

(@) What happens when acidified K,Cr,0O;is reacted with ?
i HyS
(i) KI
(iii) FeSOy4
(b) Transition Metals are form Interstitial compounds Explain.
FYqr
OR
d-Ud f=e d<al & @ SHEE @ e v 5
Discuss five uses of d and f-block elements.
18. (a) =R STl &I SR e i 3
(i) CH3;COOH

(i) HCOOH
(iii) CxHsCOOH

(b) =1 afishanatl & ged e fofn 2

. CO, HCl
(i) —
Anhyd. AlCl,

COCl1

3629/(Set : D)
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(ii) P
Pd — BaSO,
(a) Compare the acidic strength of following acids :
(i) CH3;COOH
(i) HCOOH
(iii) CgHsCOOH
(b) Write the major products in the following reactions :
. CO, HCl
i ) .
Anhyd. AlCl;
COCl
(i1)

H 2
I
Pd - BaSO,

OR
1 @1 Ao FiRTT ¢ 1142413
(i) aH-IheTR AT
(i) o UeSiel GE
(iti) Erh SAffRaT
Describe the following :
(i) Wolff-Kishner reduction

(i) Cross Aldol condensation
(iij) Stephen reaction
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